FA=VI I J-NLCU FA=U3/J-DLA FA-UI I I-NIARN

1 |IP65 grommet 1 |Silicon rubber

2 |Base 1 | PAG6 30%FBR

3 |M3x12 screw 2 |Galvernized iron

4 |3poles terminal block 1

5 |PAL0 insolation pad 1 |Polyester

6 |M3x6 screw 8 |Galvernized iron

7 |LED PCB 2

8 |Heasink part 1 |ADCI2

9 |Red cable PVC wire 1 |8cm 0.5mm* PVC

10 |Black cable PVC wire 2 |10cm 0.5mn* PVC
11 |24 tooth washer 1 |Galvernized iron
12 | 10ca Yellow/green earth wire |1 | 0.75mm® PVC

13 | M4x6 washer screw 1 |Galvernized iron
14 | Driver board |

15 |Sealed rubber 1 |Silicon rubber

16 |Blue silicon wire with FBR|1 |10cm 0. 75mm’

17 |Brown silicon wire with FBR |1 |10cm 0. 75mm’

18 | M5x8 allen stud screw 2 |Stainless steel black
19 |3*tri-angle antiglare 2 |PP

20 |l*tri-angle antiglare 2 |PP

21 |retangluar antiglare 2 |Pp

22 |Zero light antiglare 2 |PP

23 150, 5x36x4 diffusor 2 |Tempread glass with screen print
24 | Lamp body 1 | ADC12

. Name ity Material




